## Localization of Circle Actions

March-05-08 2:50 PM

Localizing a v.f. & actin on a manifold M:

If  $d_{\xi} = 0$  then  $\int_{\mathcal{A}} \propto = \sum_{\substack{K(P) \\ K \in \mathcal{A}}} \frac{\langle P \rangle}{\langle K \in \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \in \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \in \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \in \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A} \rangle}} \frac{\langle P \rangle}{\langle K \cap \mathcal{A} \rangle} = \sum_{\substack{K(P) \\ K \in \mathcal{A$